IL - (847) 841-7867

mpP

PUMPS

SERIES 300 Hydraulic end suction centrifugal pumps are offered with 1.16 or
1.59 cubic inch displacement gerotor motors for hydraulic flows up to 27

Distributed by Pump Supply Inc

MN - (651) 758-7867

SERIES 300 HYDRAULIC

3" x 2-1/2" End Suction Centrifugal Pump

GPM and a maximum pressure of 2200 PSI.

SERIES 300 end suction centrifugal pumps are available in cast iron or

bronze construction to suit a wide variety of liquids.

All fasteners are stainless steel to reduce corrosion. Impellers are
dynamically balanced to improve efficiency and bearing life.

Standard carbon / ceramic / Viton mechanical seal is self-adjusting and

corrosion resistant to handle almost any liquid.

SPECIFICATIONS:

Suction And Discharge
Materials Of Construction
Flow

Head Feet

Impeller

Drive Options

Seal

Psi

Hydraulic Fluid Flow
Max Solid Size
Hydraulic Motor
Options

Hydraulic System Pressure

lllinois Location:
(847) 841-7867
860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867
330 Mill Bay South Suite 1511
Afton, MN 55001

PumpSupplylnc.com

IL- (847) 841-7867

3" x 2-1/2" 125 ANSI Flanges
Cast iron

Up to 520 GPM

Up to 220

7" enclosed cast iron

Hydraulic motor 1.16 cu. in., Hydraulic
motor 1.59 cu. in.

Standard carbon / ceramic / Viton
Up to 95

Up to 27 GPM

AT

Gear

Hydraulic motors with flow controls

Up to 2200 PSI

PumpSupplylnc.com

Application

« Agricultural
« Industrial

* Marine

* OEM

MN - (651) 758-7867



SERIES 300 HYDRAULIC ump Supply Inc MN - (651) 758-7867

CUBIC METERS PER HOUR
40 80 120
MODEL_ SERIES 300
SIZE 3X2.5 160
8 GEM IMPELLER DIA. _7.0
180 = ULTRA 2TRO19 1.16 DISP @0
16 N s
140 mESw N 140 ©
N \\ ﬁ
14 NL \\\ T
e b N I
100 -y N <
- 2 T~ < 5
i1 ~— N N | =
i TN 20
. 60 <
o) N N
< N Y
| 1] \\
T <
;‘-:l 20 = 2000
o ]
| - |~ =
B s B=al 4= 1800:.J
: TP i 5
18PV ) P NPSHR| 1 2008
,// il L L] FT. ld:.I
el 1A
/J'[}/ /’/, == %0 ;
A4 —=<F120 10000
125 T
v g——— NPSHR 10
600
0 100 200 300 400 500
GALLONS PERMINUTE C/N 7041
A
=, PUMP EUPPLY
@ P B0 R O B R A T E D seriEs 300 HYDRAULIC

IL-(847) 841-7867 PumpSupplylnc.com - (651) 758-7867



SERIES 300 HYDRAULIC ump Supply Inc MN - (651) 758-7867

CUBIC METERS PER HOUR
40 80 120
MODEL SERIES 300
SIZE 3X25
IMPELLER DIA., 7.0
240 ULTRA 2TR026 1.59 DISP o
27 GPM =
26 T 180 L
k1 200 EEERNE =
Ll 1 N a)
1 nt ~
A 24 BN by
w{ ] \\\ ‘\ E
1] e
:_I:l 160 1 \\‘\ A lao IS
- L (o)
ﬁ - \\ \\\ \ I-
O 0 < A%
=120 1"“—-..__\ ~ \ S
E\\ \\\
\\ u \\‘
N D
80 SR 2000
/'/'--‘.<
7 // v
1 16001
- T o= w
27GPMPL T T | | AT =
B NPSHR| 12008
artizans=e N
; //22 I 30 w
re e 0 —
A2 <1120  [800 ©
Pl
=< INPSHR 10
400
0 100 200 300 400 500
GALLONS PERMINUTE C/N 7042
&
— PUMP SUPPLY
@ P B0 R OF B R A T E L series 300 HYDRAULIC

IL-(847) 841-7867 PumpSupplylnc.com - (651) 758-7867



SERIES 300 HYDRAULIC ump Supply Inc

(27010

SAE #10 INLET PORT

484

3.62

)
r=uil

1

- 725 -
- 1225 -
' au] '
) i u
350
275
700 ss0 1 !
- R30TYP.
' i —
1

lllinois Location:
(847) 841-7867
860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867
330 Mill Bay South Suite 1511
Afton, MN 55001

PumpSupplylnc.com

by Gardner Denver

IL-(847) 841-7867 PumpSupplylnc.com

PaN (4) ©.66 HOLES THRU
~ EQ. SPACED AS SHOWN
ONA 75.0008.C.

- 0250 DISCHARGE

(4) ©.66 HOLES THRU
EQ. SPACED AS SHOWN
ONA $6.000B.C.

©3.00 INLET —

|

]

—— SR
! sonorscaE |
|

SERIES 300 HYDRAULIC

MN - (651) 758-7867

MN - (651) 758-7867



SERIES 300 HYDRAULIC ump Supply Inc MN - (651) 758-7867

27010
()
WGO\ 5
1) = \
</\ )
33) (4
ITEM NO. | PART NO. DESCRIPTION QTy. ITEM NO. | PART NO. DESCRIPTION Qry.
1 22656 PIPE PLUG: 1/2" NPT 2 12 26737 ADAPTOR: ClI 1
2 26733 HOUSING: DUCTILE q 13 26680 SLINGER 1
* 3 26744 GASKET 1 14 26994 BODY:Cl 1
4 26674 SEAL BOLT 1 15 21266 LOCKWASHER SS: 3/8" 10
5 26675 WASHER SS: IMPELLER 1 16 21274 CAPSCREW SS: 3/8-16 X 1.25" 10
* 6 27403 GASKET 1 17 26998 SNAP RING: STL 2
4 26788 IMPELLER: CI 7" DIAM. 1 18 26997 BALL BEARING 2
8 26796 SQ.KEY:.25X.25X2.12 1 19 26995 SHAFT 1
* 9 27404 GASKET 1 20 21254 LOCKWASHER SS: 1/2" 2
* 10 26685 MECH. SEAL: VITON 1 21 21246 CAPSCREW SS:1/2-13X1.25 2
* 11 26996 SHAFT SLEEVE 1 * 22 29993 HYD MTR: 7/8 SPLINE 1.59 DISP 1
* - SUGGESTED REPLACEMENT PARTS
lllinois Location:
(847) 841-7867
860 Church Rd Elgin, IL 60123
Minnesota Location:
(651) 758-7867 ‘
330 Mill Bay South Suite 1511
=)
Afton, MN 55001 PUMP SUPFLY
I NC ORPORATED
PumpSupplylnc.com
PUMPS SERIES 300 HYDRAULIC

by Gardner Denver

IL-(847) 841-7867 PumpSupplylnc.com MN - (651) 758-7867



f—

er
J

=RIES 300 HYDRAULIC

ump Supply Inc

MN - (651) 758-7867

27285
ITEM NO. | PART NO. DESCRIPTION QTY. ITEM NO. | PART NO. DESCRIPTION Qry.
1 22656 PIPE PLUG: 1/2" NPT 2 12 26737 ADAPTOR: CI 1
2 26733 HOUSING: DUCTILE 1 13 26680 SLINGER 1
* 3 26744 GASKET 1 14 26994 BODY:CI 1
4 26674 SEAL BOLT 1 15 21266 LOCKWASHER SS: 3/8" 10
5 26675 WASHER SS: IMPELLER 1 16 21274 CAPSCREW SS: 3/8-16 X 1.25" 10
* 6 27403 GASKET 1 17 26998 SNAP RING: STL 2
7 26788 IMPELLER: CI 7" DIAM. 1 18 26997 BALL BEARING 2
8 26796 SQ.KEY:.25X.25X2.12 1 19 26995 SHAFT 1
* 9 27404 GASKET 1 20 21254 LOCKWASHER SS: 1/2" 2
* 10 26685 MECH. SEAL: VITON 1 21 21246 CAPSCREW SS: 1/2-13 X 1.25 2
¥ 11 26996 SHAFT SLEEVE 1 ® 22 29992 HYD MTR: 7/8 SPLINE 1.16 DISP 1

* - SUGGESTED REPLACEMENT PARTS

PUMPS

by Gardner Denver

IL-(847) 841-7867

lllinois Location:
(847) 841-7867
860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867
330 Mill Bay South Suite 1511
Afton, MN 55001

PumpSupplylnc.com

A

PUMP SUPFLY

I NC ORPORATED

PumpSupplylnc.com

SERIES 300 HYDRAULIC

MN - (651) 758-7867



http://www.tcpdf.org



